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Part A: Multiple Choice Questions
Point to note:

e Be careful with the words and read the whole statements.

* Use elimination technique to choose the best answer.

* See whether the statement is partly correct or totally correct.

e Study the questions of past paper with the correct rate <50%.



Business Environment



Topics Zk w8

(1)Hong Kong Business Environment & 5 IR1E

» CEPA (B R EIE E BRI HE)

« WTO/ APEC(1H & Z 8/ BE K& E & 1/EHE )
* Globalization (£ Ek1k)

(2) Forms of Business Ownership 1= A BEFE R

(3)Business ethics and Social Responsibility Bk BERAEEE



2018 29. Which of the following statements are correct?

MOCKPP
(1) The Mamland 1s the main re-export destination of Hong Kong commodities.
(2) The Closer Economic Partnership Arrangement is the free trade legislation with the
purpose to promote the cross-border trade in goods and services. (agreements only)

(3) HongKong 1s the largest offshore Renminbi trading centre of the Mamland.
ST AR B IR IE & B4 7
() A SRS EEROHE i - .
Q) "EREEYMGES R-BERE SR REFDPRBHOBRL )  pe
(3) FARNURANTIARTR, T o

3% | A, (1)and (2)only

14% | B. (I)and(3)only

200 | C. (2)and(3)only

wh | D, (1), (2)and (3)




50%
18%

8%
24%

2020 MOCKPP

-
J.

Which of the following descriptions regarding the business relationship between Hong Kong
and the Mainland are correct? F 7|38 Bl 7 # F A LA &9 £ M G2 R A E#EL 7

(D)

(2)

SRS

The Mainland and Hong Kong Closer Economic Partnership Arrangement (CEPA) covers
these areas: trade in goods, trade in services, mvestment, economic and technical
CmmwmlNﬁﬁ*%%%kﬁ%%?%”%ﬁmkﬂ(%M)@EMTE%:
GnEH RHEEH /T REFRMEAF -

The Mamland and Hmlg Kong have further signed a number of Supplements under CEPA,
expanding market liberalisation and further facilitating tl‘ade and mvestment.

NEESLEERE :-ca; @ Jﬂ ta ey Bk (CEPA) T i — % 4 & % 768 71 S A 48 AT
B AL R AR R S EYE 5 it E oo

Hong Kong applies zero tal 1ff to all imported goods of Mainland origin.

BHEA R ARRAERNKEY AT T LT HEEHB -

(Hong Kong pursues a free trade policy and no tariff is charged on import or export of goods from/to all
countries. Therefore, this is a correct statement.)

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)



2017 DSE Q1

1. Which of the following statements about Asia-Pacific Economic Cooperation is/are
correct?
(1) Itsettles trade disputes in the Asia-Pacific region. (WTO)
(2) It promotes sustainable economic growth in the Asia-Pacific region.
(3) Itencourages cooperation on trade and investment in the Asia-Pacific
region through high-level government-to-government dialogues.

1. THWIERREEXNEEESEREBRESZ EMRER ?
(1) ESfERKEMNE S, (HFEZEE)
(2) EBlRERXEMNAIFHESERR,
(3) EEBBFABMFcENESELHEE SBEDAMEAZEZTRES
T Bi=R (o

(1) only

(1) and (2) only

(2) and (3) only (42%)
(1) , (2) and (3)

COw>



2021 MOCKPP

24. Which of the following are not the functions of World Trade Organisation?

AT RR AR Rt R 5 e ay o fe 7

(1) Provide a forum for negotiation to eliminate all international trade obstacles
PO G FSAILH R A B H ) [ st

(2) Settle trade disputes among different countries all over the world
Bt R &b A E 5 ¥ &

(3) Provide loans and subsidies to developing countries for trade development
RETHRATHTPRERETBREARKE S
19% |A. (1) only
40% |B. (3)only
18% |C. (2)and (3) only
23% |D. (1).(2)and (3)




2021 MOCKPP

30.

7%
38%
37%
18%

Bob Clothing has set up a fashion shop in Hong Kong which sells clothing items imported from
the United Kingdom (UK). Which of the following is/are the possible economic factor(s) that
affect(s) Bob’s price-setting strategy?

PR EAFBERRT — KRS BB AEBE O AR - AT IRR &R X T 4%
e h 0y R R ?

(1) A change in tax ordinance in Hong Kong (Not economic factor)
F BB AR ] 09 1L
(2) Relocation of the UK suppliers’ production line to the Mainland to reduce labour cost
R 094 A RBAENMLAKR D AT KA
(This economic factor will affect UK suppliers. not Bob Clothing.)
(3) The turmoil caused by the outbreak of COVID-19
2019 7V 5 K 7 R B AR AT 5 AL B9 %h
(The turmoil will be the worldwide economic downturn caused by the serious pandemic)

A, (3)only

B. (1)and (2) only
C. (1)and (3) only
D. (2)and (3) only



2020 MOCK PP

2. Which of the following are mevitable impacts of globalisation on Hong Kong business?

T AR DA HEFELENLARADE?

(1) Firms can mtroduce advanced production technology which 1s not available locally.
EREF BRI G REREGRBEFZIELEE -

(2) Firms can diverse their risk by expanding businesses across borders.
LEREBIRMIEEH AR -

(3) Firms can reduce their production costs by sourcing materials through the internet.

D EARE DT AR AR IRE 2 R A o
11% A. (1)and(2) only
26% B. (1)and(3) only
12% C. (2)and (3)only
>1% D. (1).(2)and(3)




2017 MOCK PP

4. Which of the following characteristic(s) is/are common to both private limited

companies and public limited companies?

(1) At least have one company shareholder

(2) Need to disclose financial information to its shareholders

(3) Shares can be transferred (shares of a limited company can be transferred with
approval of board of directors)

UTHWIESMABRATNAMBRAT LR FE?

(1) mPE—HMLT)R/E
(2) BERALBREREZEHAFES
(3) REAHEE (SIEE=RREERMTEE)

A. (1) only

B. (1) and (2) only
C.(2) and (3) only

D. (1), (2) and (3) (39%)



2019 DSE Q9

Which of the following statements about business ethics is/are correct?

(1) Business actions that are legally acceptable may be unethical.

(2) A 'code of ethics' is compiled by the government for businesses.

(3) Business ethics are a set of clearly-defined moral principles and standards that a business should follow.
A. (1) only (49%)

B. (2) only

C. (1) and (3) only

D. (2) and (3) only

T 51 I8 A5 R 5 S B 12 O Bk 2 IE R ?

(1) ER LA EZNERTAFREETREN,

(2) rg%#“*ﬂ =BT At EREN,

(3) BXEREEXEERMN—ER AR EZNERRBIMRE,

0F (1) (49%)

A. H

B. RE (2)

C. 2A (1) and (3)
D. RA (2) and (3)



Reference: DSE 2020 and 2019

Which of the following companies does not fulfill the social responsibility towards its
stakeholders?

A company adopts a strict credit policy for its customers. (Reason Behind)
A company does not distribute dividend to ordinary shareholders. (Reason Behind)

* A company charges a higher price than its competitors selling the same type of
product. (Reason Behind)

A company does not provide training and development opportunities for its
employees. (Legal but not social)

* A company does not allow its staff to work from home when there are adverse
weather conditions. (Legal but not social)

e A company pays the minimum wage to its staff. (Legal but not social)



2020 MOCKPP

23.  Which of the following are not social responsibilities of a business to respective stakeholders?

T FIHRIA R e AT K e TAE?

Stakeholders Social responsibility
T % e W

Provide low-priced products and services
AR B A oo B R

Ensure that shareholders receive dividends each year
HE R R R AR SF A IR B

Provide employment opportunities to all people
RMIERT TATAH A

(1) Customers /&%
(2) Shareholders A% &

(3) Community #+[&

31% A. (D) and(2) only
21% B. (1)and (3) only
20% C. (2)and (3) only
28% D. (1).(2)and (3)




Introduction to Management



Topicsikia:

IO

(4) Four Management Functions (4) & ¥ LI gE

IO

(5) Five Management Principles (5) & I /R HI|

(6) Key Business Functions (6)7 2 I RE

(7) SMEs R/
e Definition of SMEs Ha /)

TEF
INE YR

e Characteristic of SMEs H

* Entrepreneurship £ %R



2019 MOCKPP

25. An online store sets the following goal for employees:
“In 2019, we reply emails from our customers faster.”
Which characteristic of a SMART goal has been violated in the above goal setting?
—FHELEHEBHE A T HET AT B AR -
“f 2019 F 0 HMEEBREEREP QT FEHME
LK a9 RER T WA SMART B 4% 694585 7

(1) Relevance #8 fif
(2) Specific A5
(3) Measurable ] 5.7 (how to measure faster?)

(1) only

(3) only (29%)
(1) and (2) only
(2) and (3) only

0wy



2021 MOCKPP

14. Which of the following statements about Management by Objectives 1s/are correct?

LATFUIRIR A B B A% B I AR E R AR 0y 7

(1) Superiors and subordinates have to hold meetings frequently in order to understand the
problems encountered by subordinates.
Ao F R A EI AT @M AT TR E pA -

(2) Subordinates have greater motivation to achieve the goals set by themselves.
FTRAEBRGAEHA KERA T EEAE

(3) Superiors can monitor subordinates to achieve organizational goals ultimately.

FAREPMERT AL ERAKMRLBARE -

8% |A. (1)only
22% |B. (1)and (3) only
23% |C. (2)and (3) only
a7% |D.  (1).,(2)and (3)




2020 MOCKPP

22. May and June are the directors of KPA Limited. They both oversee the direction of development
and all staff of the company. Which of the following principles of effective management have

beenviolated? % £3L KW A H RN G &9R LEF > i EEE 2N )R T A
BT B L o pb B R T F 2| pee 58 R A7

(1) Unity of command H— e
(2) Unity of direction B— 7 )
(3) Division of work L

19% A. (1)and(2) only

31% B. (1)and(3) only

13% C. (2)and (3)only

14% D. (1).(2)and (3)




2017 MOCKPP
12. Which of the following is not the advantage of Management by Objective (MBO)?

A. Subordinates have a higher commitment to the goals of the organization after thorough
discussion.

B. The organisation goals are translated into objectives for the near future and each
subordinate would clearly know the yearly targets to achieve. ?? (22%)

C. Superiors need much more time to review the action plan periodically but the progress of
work is under better control.

D. The negotiation between the superiors and subordinates may be demanding and yet there
are more opportunities to exchange their thoughts.

12. LUTHIERZBEEEEMBO)IIFEE ?

TEERS HHEEEENE R ESAER,

HEnE Rt AaNMER MEETRIBEFTEMMERZIMNEEBR. 22 (22%)
#HA LB FEEZHNRERENEZTHRTEEE, BIFERRSIIEENZES.
LEIMTE2ENGBEAREEE NN, BAESMEEEMMRZTEE.

00w



2018 12. Which of the following tasks are performed by the marketing department of a company?

MOCKPP
(1) conduct survey on customer needs

(2) formulate promotion strategies of the product
(3) design the remuneration package for the salespersons (by human resources dept.)
(4) [sort outjcustomers’ data for maintaining customer relationship (by IT dept.)

ST AR R AR o ) 8 3 2 43R P BT Y

(1) #HEEHFLETHAE

(2) %1% E i g Ro%

(3) K HEARHHBMARBT K (AN ER)
(4) BEBFREREFAZT P AR (B

A. (1)and (2) only (41%)
B. (3)and (4)only

C. (1).(2)and (4)onl

D. (1),(2),(3)and (4)



2018 23. Which of the following statements are correct descriptions of SMEs?

MOCKPP | |
(1) They enjoy lower profits tax rate.

(2) They serve only|local customers on small market.
(3) They are usually lack of economies of scale.
(4) The owners often could not afford to hire management specialists.

PATF AR o e e dh i e EAE Y Y

(1) BHEHBMRGFVFRHE -

(2) A AT IGRE AR -
(3) EHBFHZAELE

() FxXxBFB/EAREERSEES -

A. (1)and (2)only

B. (3)and (4) only (40%)
C. (1),(3)and (4)only
D. (2),(3)and (4) only



2020 MOCKPP

29.  Which of the following statements concerning small and medium enterprise (SMEs) in Hong
Kong 1s/are correct? F #|ARMEMMHFHNF Ao E (P L)L EEN?

(1) SMEs serve the local market by introducing new technology.
F oA E WG] AGHT R SRS R 3 e
(2) SMEs provide a majority of job opportunities i Hong Kong.
T BRIy e AR ALl PN R
(3) The number of employees of an SME 1s fewer than 100.
o a9 8 AZUVH 100 A o (Non-manufacturing enterprises <50)

12% A. (1)only

32% B. (2)only

40% C. (2)and (3) only
16% D. (1),(2)and(3)




Introduction to Accounting



TOPICSERRE:

(1) Accounting Function, Uses and Limitations of Financial
Statements

ZariaeE. BA75ERaR A& KRR H
(2) Double entries %8 & SR
(3) Trial Balance & &
(4) Financial Statements Bf 75k 3
(5) 5 Accounting concepts 5& i1t =
(6) 5 Accounting Ratios 5& &t Lt 3




2017 MOCKPP
22. Which of the following accounting equation is incorrect?

A. Assets — Capital — Revenue + Expenses + Drawings = Liabilities

B. Capital + Revenue — Expenses — Drawings + Non-current liabilities = Assets — Current liabilities

C. Current liabilities + Non-current liabilities = Non-current assets + Net current assets —Capital (46%)
D. Capital = Non-current assets + Current assets — Non-current liabilities — Current liabilities

UTHIEEHERA T ER?
ABEE-BEXR-kZ+ER+IRA=-81E&

BEAX+ W R-ER-REBA+ERBEE=-FAx - RBEE
ChsiBE+ ERBER/=FERBDEZE + REEZEFE - EX (46%)
D.EX=FREBEE +RBEE - ERBEE- REEE

Working capital B1E& £ = Net current assets JREIE E/FE (CA-CL) (RBEE - RBAE)



2018 9. InDecember2017, a company made the following transactions:

MOCKPP | |
Dec 11  Purchased goods on credit from C Chan for $2,400, before deducting a 4% trade

discount.
Dec 19 Returned goods purchased from a supplier on credit for $180.
Dec27 Purchased goods on credit from WH for $3,500, with 10% cash discount if the

payment was made within 7 days.

Calculate the total amount of purchases recorded for the month of December 2017 in the
purchases account?

W21TH12 8 FraAAHRTHEY:

12A11 8 ARietBEELs2 400 Kiork 405 £47da ¢
127198 RER@BEHKREeY S 5180 -
12R278 AERRERALSS 00 ok TRAMKTE 1058 24740

HE 2017 4 12 A SRS ke BT A -

A. $5,454(2,400x0.96+ 3,500 0.9)

B. $5,624(2,400x0.96 + 3,500 -180) (Goods returned should not reduce Purchases)
C. $5,804(2,400x0.96+ 3,500) (24%)

D. $5,900(2,400+3,500)



2017 MOCKPP

26. When a customer returns some goods to a company, the company should
receive from the customer.

A. a debit note (41%)

B. a confirmation note of goods returned
C. an adjusted sales invoice

D. a credit note

BRI AAR IR R, A FERRE R o
A. Flﬁiﬁﬁl‘i‘ (41%)

B. EEmERE

C. nﬂ BRI ERE

D. EIHBME



_ Issued (3¢ H) Received (Y E)

Debit Note RO (BEERH) RI(#HEIR[E)
(B @A E)

Credit Note RI (8 B 1R [A]) RO (BEEEH)
(EIEEENE)

Trade Payable FE{ B X Trade receivable FEYZ B X
S

RO XXX RI XXX



2018 30. On 13 July 2017, Sun Enterprise purchased goods totally $9,000 on credit from Moon Company,
MOCKPP and obtained a 5% trade discount.

cash discount.

If Sun Enterprise repays within 23 days, it can enjoy a 2%

If Sun Enterprise repaid an amount on 22 July 2017, what are the double enfries in Moon
Company of this fransaction? (Moon Company 1s the seller in this transaction 1.e. collection of
debtors within the cash discount period)

Dr Cr
A. Tradepayables $8.379  Bank $8.379
B. Tradepayables $8,550  Bank $8,550
C. Bank $8,550  Tradereceivables $8,550
D. Bank $8,379  Tradereceivables $8.379

(37%)

AATETA B ABGLEGA 20%00E0,000 98 % BBIFS £ 0% - %
KL ER2RARNER CTEH 2 ediin -
wRKGLENNITETALAEESRE X HAR RO ERM LB CBALRE?
(BLBR LT AROEREE  ARAVHHARNEBREHRAGRK )

] &
B. RAEX $8,379  SATHH $8, 379
B.  EBAEH® $8,000  HRATHE $8, 550
C. iﬁvﬁﬁm 38,000 | Bk E#H $8, 550
D. | BATHE $8,379 B EH $8, 379

(37%)



2020 MOCKPP

16. If an account shows a debit balance m a trial balance, which of the following statements about
that account 1s correct?

B R 09 0P BT A R 0 F IR A R P G SERE ?

52%

18%

11%

19%

A

B.

This must be either an asset account or expense account. Drawings (Dr) — capital a/c
B ARATARP LERAKE -

This must be either a personal account or real account.

1‘.)2'?} /[\Jﬂ]ftf‘? j(.;‘ r]’EifJ N

The account balance must be shown 1n the statement of financial position.

kP BYEREA A LM A IR LR BAT -

This may be a revenue account. iZ ] 4 & L A P& P - Sales returns (Dr) — revenue a/c



The following information was extracted from the books of King Kong's firm as at 31 December

2021 MOCKPP 2019: vl F Ea#A 2019 5 12 B 31 A 46484 & 8] 8 5% &t -
$
Packaging expenses = W H 3.900
Carriage inwards Y ES 5.910
Carriage outwards & 1w 2.150
Drawings - 1.000
Returns imwards i WikE 180
Sales s 56.700
Purchases [ty 32.100
Returns outwards M AR 360

4,

9%
7%
47%
38%

13%
14%
43%
30%

Inventory as at 1 January 2019 &1 - #2019 51 H 1 8 2.500
Capital as at 1 January 2019 &4 » #2019 51 H 18 150,000
Cash sales 1 A48y 1.000

If the inventory as at 31 December 2019 amounted to $1.300. what would be the gross profit for
the year? # 47 #2019 5 12 § 31 8 #2MAS1300 - A FHELHELE V7

A $11970  (56700-180) — (2500+32100-+5910+5900—-560—1300)
B $17.110  (56700-560) — (2500+32100—180+5910~1300)
C. $17.870 (56700 -180) — (2500+32100+5910-560-1300)
D. $18870  (56700+1000-180) — (2500+32100+5910-560—1300)

Calculate return on capital emploved for the vear ended 31 December 2019 if the net profit 1s
$6.750. #:F #1%86.750 » s Hik & 2019 4 12 F 31 A ¢9:i& M F A48 F -

4.33%  6750/(150,000+6,750-1000)*100% (using closing capital)

4.40%  6750/{[150,000+(150,000+6,750))/2} *100% (using average capital but ignore drawings)
4.42%  6750/{[150,000+(150,000+6,750-1000)]/2} *100% (using correct average capital)
4.50% 6750/150,000*100% (using opening capital)

ONWE



Personal Finance



Topics Zk w8

(1) Time value of Money éf&ﬁﬁﬁ@ (_N_PV, FV, Effecti_\l/_e Rate, Nominal
Rate /BIRMH. RKRE. EREIHRE, AERMBIEFHE)

(2) Consumer Credit JHEHES

(3) RISk and Return of Common Financial Products & B B & 75 i 1

(4) Personal Financial Planning{@ A :

IO

HHFEt 2] and MPF

(5) Stock Trading as an Investment [RE 3 Z{EIRE



2018
MOCKPP

24. Tt 1s a common practice for the banks i Hong Kong to pay semi-annual interest to all savings
accounts on 30 June and 31 December each year. The following is an 18-month savings plan
starting on 1 January 2016. Calculate the net present value of the investment (to the nearest
dollar) if the nominal interest rate 1s 4% per annum:

Events Amount in $

First Deposit on 1% of July 2016 40,000 End of period 1 (outflow)
Second Deposit on 1% of January 2017 30,000 End of period 2 (outflow)
Cash Return on 30™ June 2017 77,000 End of period 3 (inflow)

ABEBATBENEE6AINBRI2ZA I B AFFAEEEL IAFENHAL c LT A
#2161 1AM IBEARENZ - wRLZFNEAGE A HERLHEE

AEGIEERHT)
E3 28 ($)
016 TA1 BEE-RAER 40,000 = Compound semi
017#1 A1 a9 E—kBEH 30, 000 annually
NIT4E6 A 30 8884 EH% 77,000 i.e. 4%/2 for 6-month

o0 we

$2,345 [-40,000]+ [-30,000/(1+4%)]+[77,000/(1 + 4%)*]

$4,508 [-40,000/(1+4%/2)] + [-30,000/(1+4%/2)2]+ [77,000/(1 + 4%/2)*] (38%)
$2.254  [-40,000/(1+ 4%)] + [-30,000/(1+4% Y] + [77,000/(1 + 4%)°]

$62,178  [-40,000/(1+ 4%/2)]+ [30,000/(1+4%/2)2] + [77,000/(1 + 4%/2)°)



2021 MOCKPP

6. Which of the following statements about the relationship between risk and return are correct?

LATF R34 [ &L 5 Ao 0 3R B 1 B9 PR G e IE 7 69 7

28%
14%
32%
26%

(D

Diversification of investment can spread systematic risk of the market.

AL B RE B BT I a0 & SRR o

(2) Higher risk does not necessarily mean higher return of investment.

(3)

CREE:

2 AR R R — A ok B 694% B E AR

For general investors. higher expected return should be compensated for their risk
bearing.

R — BB AEA™ T 0 BE B e ERE AR IR T AT R IE AR R -

(1)and (2) only
(1)and (3) only
(2) and (3) only
(1).(2) and (3)



2017 DSE Q7

Anna is 62 years old and works as a part-time consultant in a firm, with a monthly salary of
$40 000. Under the Mandatory Provident Fund System, what will be the amount Anna
contributes each month?

IR E625%, & KA KAIFRMERRN, H#7$40000, FERHFMELIFEHET, TH
BR#RZD?

A. $S4000

B. S2000

C. $1500 (35%)
D. SO



Important Notes for MPF

Amount of Mandatory Amount of Mandatory
Monthly Relevant Income Contributions Payable by Contributions Payable by
Employer Employee
Less than $7,100 Relevant income x 5% No contributions required
$7,100 to $30,000 Relevant income x 5% Relevant income x 5%
More than $30,000 $1,500 $1,500

Voluntary Contributions

Employers, employees and self-employed persons are free to make voluntary
contributions on top of their mandatory contributions.

One of the rights of employees:

Employees, once a year, opt to transfer the accrued benefits derived from the employee mandatory
contributions in their contribution accounts to a scheme of their own choice (New Scheme).

Source from MPFA



2018

25. Which of the following statements about the personal financial planning at different life stages

MOCKPP is correct?

A.  The most important objective of estate planning in Hong Kong 1s to mmimize tax
expenses.

B.  For married couples with young children, the mnsurance protection for parents is more
important than children. (Need to protect breadwinners first) (12%)

C. Retirement planning 1s needed at the pre-retirement stage only and more financial
resources must be directed to savings for retirement preparation.
(preparation should begin long before retirement)

D. The most important objective of savings management for retired people is providing

enough resources for medical expenses.
(most important objective 1s providing resources for living expenses)

TR BB AR R R A BAZ LA R Es ) ?

A.

HEREARANREZEMAIRA -

R LBRTAFHETOAF LRORREEERTFNEALE - BDREREERIIAN(12%)
AR BILRARAT AR R R MBS MM ERLARRAE B RAE

f o

BETENREZANRACEBRAIREREARBAGER -



2021 MOCKPP

25. Arrange the monthly increase of personal account under Mandatory Provident Fund Scheme for
the following people in a descending order.

HE P B SIATF A A 3 0 B 25T BUF A DR 4 A 930 46 -

Maggie:  She is now 66 years old and is working as a supply teacher to earn monthly salary of
$11.000 in a primary school after retirement.

I W BLEF 66 3R MBI B — 5D SRR AL 0 BRIRA $511.000 -

John: A self-emploved business owner earns monthly salary of $10.000 from his own
business.

Harc —LHARMALEREMESERRA #7510.000

Susan: She works in a tutorial school on a part-time basis with a monthly salary of $7.100.

A SBPGR BB A — 5 H AL T AF 0 KA 34 $7.100 -

15% |A. Maggie 2 Susan - John B4 > it > £

28% |B. Maggie - John = Susan B4 > #¢r > i
44% |C. John - Susan - Maggie #¢ > & > H4E
13% |D. Susan - John - Maggie g8 > #4& > BHiE




2020 MOCKPP

19%

8%
56%
17%

21. Which of the following about the stock market in Hong Kong 1s/are correct?
T RMARR AR BRE TG AEEY?

(1

)

(2)

O 0w

)

Ownership and continuity of management are both parameters for listing on the Main Board
or the Growth Enterprise Market (GEM). However, the requirements for listing on the

GEM are relatively looser. #i A 4 Fudf 48 045 58 FR L > 8] i E AR S B £4r E7F a9k
EE o ML ERET OJERB L E T I -

Hang Seng Index 1s the main indictor of the overall market performance representing daily
share price changes of most listed companies in Hong Kong. & 4 35 # & 248 1 35 & 3,
MEZHEF RERS > FH LT 2368 FREMBEZEIL -

(Only 50 constituent companies represent about 58% of the capitalisation of the Hong Kong Stock Exchange)
Only companies listed on the Hong Kong stock market are eligible to declare dividends to

shareholders. 2 4 F A& AR Z 135 &4 L0 4 5] A4 F &6 BX £ IRISAE B o

(1) only

(3) only
(1)and (2) only
(1), (2) and (3)



2021 MOCKPP

22. Which of the following descriptions about obligations of a personal investor 1s/are correct?

LAFRIAR MBI AR T HF T AR L EE?

(1) Ask the broker to explain the rationale behind the recommendation of investment
T RERMEMRE R ETERYT REL (Right of investors)
(2) Settlement of funds on time
W ATAE L F 694 %8 (Obligation of investors)
(3) Get the details of charges levied by reading the transaction documents
BT AT R 63 m B L 5 XAF (Right of investors)

18% |A. (1) only
16% |B. (2)only
5% |C.  (3)only
11% |D. (2)and (3) only




Part B Points to note:

Candidates mixed the concepts

(e.g. steps of controlling/ steps of planning/ different types of business
ownership/accounting concept...)

(5: $=H B ER/ AT EI D R/ A RN X R E/S5 =, .)

Some candidates misinterpreted the questions and thus gave the wrong
answers.

Most candidates failed to give clear and complete answer, just memorized
the extracted points in the textbook.

Most candidates memorized the points in textbooks without applying
concepts to the situation given by the question.

Answering the questions without applying the BAFS’s knowledge



Business Environment



Factors affecting business decision

CEEXRENER

2019 MOCK PP Q1

In 2018, Wonderful Ltd is going to start producing 3D horror movies.
The CEO of the company asked the marketing department to conduct
market research and identify the external factors that may affect the
prospect of the project.

Explain one social factor that may affect Wonderful Ltd’s decision to
produce a 3D horror movie.

20185, E=phH PRI T % B sa RAE3DRY Ei%o E&hﬁ%*
G =R aRF TR A, KL TR B TEH Y ?E’J%T e
R R E XU ARAFRERFIDEMELN—EHLERR,




VELRETHRTE L
- B BAREEABALTRARATHE

%%ﬂiAkumWﬁH@°

FRALRERMHOREAXRATFTLFEBAADEL
- MR A HRAME LB AR
SRBH P AGEY -

- BEAF WD E R AR RRS 0 Bt T 2 BS M A SIITAR/ | 2

'$%°[%k*ﬁ§%ﬁﬂkuﬁﬁ

i 2% o

FEAOFHAD  BMBHF KRS EXSHE43D

= g
LA

A DARKEY

The social factor that may affect the decision:

- S T R E Rt/ R B AR D TR AE R
R Akt BHERE AR AMES -
(EM 1A AHORE L 2RAGEEL Y &S5 240)

Age distribution: Horror movie is not suitable for children and the decision will be

affected by the proportion of adult population. / Young people are fond of

excitement and the decision will be affected by the proportion of young
population matters.

Sex Ratio: Men prefer action and horror movies more than women. Therefore.
larger male population will have greater advantage to the project.

The technical requirements to produce a 3D movie are

Education level:
demanding and hence requires technical workforce with higher education level. /
The education level of the audience improves and they demand for high quality

3D movies.
Local culture: The culture of a country which prefers a taste for adventure /
prefers high tech 3D movies will be a favourable condition for 3D horror movie

and have greater advantage to the project.

(any 1 of the above: 1 mark for title and 1 mark for elaborations. max. 2 marks)




2020 MOCK PP Q1

1. Nisson Foods Holdings Limited 1s a company operating in Japan. After conducting marketing
research, the company’s Chief Executive Officer (CEO), Yuto decides to set up Nisson Foods
(HK) Limited in Mongkok to sell Japanese imported goods.

(a) Explain one economic factor that Yuto should consider when planning to set up his

company in Hong Kong. (2 marks)
. BERDERARANA—T D RSEYNE) AT HAEL » 2 ATEEE S

BREATEARIIABERS (F4) AMRAsIAE GO A -

(a)  BRAEZG ST & BRI~ 8] B ERA e b — R B A & - (2 %5°)



1(a)

1(a)

One economic factor 2 marks
® Exchange rate (importing foods from Japan. capital transter to and from
Japan)
® Interest rate (comparing the borrowing costs in HK and Japan to decide
where to raise the funds)
® Tax rate (comparing the level of profits tax)
® Ievel of operating costs (level of rental cost, wages level etc.)

(1 mark for title and 1 mark for elaborations. max. 2 marks)

— IR & B & 2

i

EE (fdhdBAAD ~EERENE K9E L)
FlE (LBREFLHDAROETRALATANREZLET S)

B R AKFE (BlhefadKE ~ THFAF)

®

®

® E GRAHRAT 81 #)
®

(fF4

f—E ALy HAL Y BES25)



* Candidates simply stated the factor without
explaining how it affects the decision.

- ZERKBEER, BRAFEUVBRINAEZEL
RIRTE

Be Careful:
Taxation system is not the same as tax rate. (Fi il AR )
Tariff is not the acceptable answer. (A~1ESZ AT (12 XK)



2021 MOCKPP Q5 Globalization £Ek{t

5. Ivan is the owner of a medical equipment trading firm. His firm’s major business is to import

medical equipment from the Mainland China and export it to the western countries.

With low labour and rental costs in the Mainland. most of the medical equipment used around the

world 1s made in China. Many international medical equipment companies now purchase the

equipment made in China or ask the factories in China to tailor-made the equipment for them.

Because of the outbreak of Covid-19. there is a huge demand of medical equipment around the
world. but the supply of medical equipment 1s very limited.

Ivan can hardly find suppliers for
his business.

(¢) Describe two possible impacts of globalization on the medical equipment suppliers during
the outbreak of COVID-19.

Explain how these impacts adversely affect the suppliers’
production.

(4 marks)

YT A—ZREHRBIBE S HRORE - B E R EH AR P E MM o B EENF
Hoho g B % -

WP AT R ERAME  HREATER B RXBEHER S XM P EESE -7 5

5 Iy

B BB A R emA P B B et B RPEGBREARLE G THEH -

A 2019 AL kR I AR o - R A H BRIk A B AT K o 2 Bk et
JRIEFTHM - A HF REA L EHLDLENY -

(€) #2019 M ALk o A eI B 2 L H B R B S AR R B TR LE-

b At
AR W o THL R &9 B R A F - 45

—



Points to note:

5.(c)

Many students just stated the impact of COVID-19 without considering
the impact of globalization.

KR EERBHEETRNZE, RESEEXRENTEE,




(c)

Global Sourcing

- The production of medical equipment requires different kinds of raw
matenials. These materials are needed to be sourced from all over the
world. (1)

- The suspension of international transportation from many countries
may affect the procurement of raw materials, therefore it hinders the
production of medical equipment. (1) or

Outsourcing to other counfries

- Most of the infernational medical equipment compames outsourced
their production process to factories in the Maimnland Chuna (1)

- The production process may be affected as people are quarantined in
the Mainland China dunng that period and factories may be forced to
stop all the production of equipment. (1)

Keen competition of compames around the world

- Since the demand for medical equipment increases, more companmes

around the world enter this industry (1), more competitors need the

matenials to produce the equipment. it 15 more difficult for suppliers fo

purchase the required matenals. (1)

(Any two pomts, 2 marks for any one point, 1 mark for descnbing the impact of

globalization: 1 mark for describing how that impact affects the suppliers”
production, Max. 4 marks)

AR
- A AEHRX
(1)
- "N BERGBEEERTE > 2R
mamet A (1) &
shH| T
- RIS BEREERAG AN ARLL AT T BN AEE - (1)
- d R ENRARESH £ TEMAFIEAE A A 0 &
et ABRABHTHFASLRBE- (1) &
A F eI R F
- WA BEREREBAT R RS R FOEMHEAZTE (D
HE L9 FHE S E FA A o 1B PLE T B8R T TR oY
#at - (1)
(EfTdE - A2y & 4 )
1 A2 HALGEE ] p R EZEE /TR SRR HEEE L AR A
WE -

B R BARMM o MR E R R SR -

R A A a9 Bk R > MUbPRR T B



2021 Mock PP Q1
Forms of Business Ownership

The franchising of convenience stores is becoming more popular in Hong Kong. Many business
starters think that becoming a franchisee can help them start up a business more easily. May
wants to set up and manage a convenience store by joining the franchise. However, her friend
told her that it is very risky as she may need to pay back all the debts by selling her personal assets

if the business fails.

(a)  What form of business ownership would vou suggest May in order to resolve her friend’s

concern?  Explain clearly how this form of business ownership can resolve the concern.

(2 marks)

(b) From the cost perspective. list one disadvantage of the form of business ownership

mentioned in (a). (1 mark)
Finally. May decided to set up the convenience store by joining the franchise. She has found
that one of the franchisees sells a product which is harmful to people’s health. However. she

does not inform the franchisor about this.

(c)  Explain the possible consequences of a harmful product sold by another franchisee on May’s

business, (2 marks)

EXREFRERE

18 A5 G 8 R AT B HRAT o S B AR A A o L5 A5 S AR AT ¥ Bh A A
BEERLELCE - AR E BB ASHEL AR FE— FEAS o 2k A%
Vidb 0 —B O EAB O WTHEERHEMAMGE A RMEBME RS o ARES -

(@) & &b AR EHA H 5

AR LM ANEE ? AR AACHLRATA

e S o o AR B OR - @ »
(b) BEAAA R T o PR @BATRE 60 E A AR 60— B - (15)

R NERATUBHEETE AR BAE - BB P — LA A E — &Y
ANESEEEA A L 12k BbEl g A A -
(c) ARFER

— LA HE A AR E AL A H DR BB R AT RRARR - 2 %)



Question 1

(a)

(b)

(c)

(Private) Limited company. (1)

The shareholders of a limited company can enjoy limited liability. (1)

Profits tax rate of limited companies is higher. (1)

or

The set-up cost of a limited company is higher. (1) or
The legal and audit fees in operation of a limited company 1s higher. (1)

(1 mark for any one point. Max. 1 mark)

If the reputation of one franchisee is adversely affected. the customers may lose

confidence on the whole franchise (1) and the sales prospects of May’s business

will also be adversely affected. (1)

F1

(a)

(b)

(©)

S e
(G A F2 3] (1) 2 4
AR S I T EH BB E4E - (1)
HEANHAFHRERGABERLE - (1) % 14

AN S) B EmAES - (1) &
BER RN R EFERESER RS - (D
(L4 5m o)

EHP — L8R AMFETH A BE BEXTHARSATFESY 25
Sk EEC) BN EEHRYOHEENT LT RANBE - (1)



Points to note:
1.(a)

* Some students stated that the “limited company” enjoys limited
liabilities = “Shareholder (May)”.

« FHERIEHERAR EXHREFTERE. >ER"
1.(b)

* A few students wrote lower “profit tax” =2 “profit tax rate”
c DESBERT FIGH BUESFISH A

1.(c)

* Many students could not indicate that the WHOLE franchise was
adversely affected.

s ZERBERHSHHZBERFFESNMETRRAFIZE,




Types of business ownership ASE] R 1E X HEH 1
2019 MOCKPP Q5

Alibee is now considering opening another shop to sell healthy organic foods.

She is choosing between joining the present franchise and establishing an

independent shop.

(c) Based on her above experience, state two arguments for and two
against Alibee to join the present franchise.(4 marks)

FIEEEFEZERAZXP—BELEEREMNEEE R, thiEEEENRR

B RKRERRE B R — B MNETE,

(c) HBELIAKE REMEEBEREMIERENEENBIRGFFRER
Fa W O E (4 7)




(c) | Argument for joining the present franchise: 2
- The goodwill of the franchised shop did attract customers and created profit for
the shop.
- Franchised shop is easy to set up as the franchisor provides constructive advice
to Alibee.
- Alibee can obtain various supports from the franchisor such as marketing,
inventory supplies. accounting and management.
- Alibee enjoys the benefits of buying stocks 1 bulk through the franchisor.
(1 mark for any one, max two)
Argument against joining the present franchise: 2
- Alibee 1s required to pay promotional and royalties fees to the tfranchisor
irrespective of whether or not a profit 1s earned.
- Alibee losses her independence in operating her business as the franchisor has
much control over the operations. e.g. no choice to buy from other suppliers.
(1 mark for any one. max two) (c) oo 8 BA S8 SN el E 2
- FEr e H k69l %Eﬁﬁ‘dﬁﬁhl T RAE 32 @ J5 B T A1 -
- HEAREHSERE LAY  HASFERANATOPTE LR B E Rt aiEg -
- FTE ST A A AE L4 » w8 FREE > gitdh®
R OE R
- FTE G iR AL ERE R T A 7o -
(&mwmwﬁﬂlﬁ'ﬁﬁlﬂ)

R¥t @ RAE HHFES

- BRREHAMETE  FEE -z’rs:;;f@ B ALH S SR EY -

- A AEHERES AHFEC N EERE S AR S TN AR ER
FamkEAHGE TN Hld R EEENH ML EHBEE -

(FRBH ORI 5

- AR e

' Hdg 2 4)

| )




Points to note

Some candidates failed to give appropriate elaborations.

e.g. Enjoy the well-established goodwill, Alibee can earn profit. (not
necessary) ZEHEEILAEZ, MEEgEERINFAE, (F—F)

e.g. Can enjoy economic of scale? EH AR
(= lower the average cost of bulk purchases Rl R = EE MIEE*
) K )

I~




Forms of Business Ownership

TEHERERY FE. 8%)

2019 MOCKPP Qb
Kingsley has decided to expand his business to Mainland China.
However, he does not have enough money to further develop the
current franchise system to cater for the mainland China market. He
IS going to ask his best friend, John, to become a new partner of the
business.

Except the reason mentioned above, state two arguments for and two
against Kingsley to change the form of business ownership.
(4 marks)



Forms of Business Ownership

EXREFRENERE BE. 5%)

FATREMASBREEIPEIARE, HE, 25 EN
ERE—TREABRANFFESHEINLLD S P E A

;’]Tiﬁ T E R PR R BRI R T A
57

() FRT LRI, R IS AL R AR AT e
HIRF R E*Eﬁuﬁ’]n::gﬁ (473)




(c)-

Argument- for- changing- the- form- of- ownership- from- sole- proprietorship- to-
partnership: -

- -+ Businesstisk-is-shared by partners. -

- -+ Division- of* work- between- partners- (with- different- expertise- and- knowledge-

contributed-to-the business by -different partners) - (1 mark -for-any-one) -

2

Argument- against- changing- the- form- of- ownership- from- sole- proprietorship- to-
partnership: .

- - Bound by the-decisions-of-all partners .

- - Lower-operational efficiency. -

- ~ Share-of profit-with-John (1-mark -for-any-one)

2.

() | BRAEEANNBEELCEBASE O ENHE: .

2.
BN I E R o -
A BATETST T (BABWEBAALETRRARGE KAL) -
(FEARMOBIB LD KD 2 H)
. RUBGERAFHEECERALOBLOENHS. 2.

- RERXITARGHAFTH R

- FARSEH R - .

- Ry ) F A -
(FEARMRE L 5 &S 2 %)




Points to note:

Most candidates did not read the question carefully and

put ‘more source of capital” as one of the advantages of
partnership

AoEERGERMEERE, IENERMEAEE,

They only write ‘Share of risk” = Share of risk by
partners

/\#—e@v 9 A%&A_I \:b&@» 7




Social Responsibilities to Stakeholders

2012 DSE Q6

Peter was a sole Broprletor running a small business without any employees.......
Eeter then went bankrupt on 31 March 2012 and he decided to close the
usiness.......

Give two types of stakeholders in Peter’s business and explain the adverse effect of
the closure on each of them. (4 marks)

{1, BEM201243AH31H

>aH

BEE-_FNUER, LHEARR. ..]
&}i RelJT o
FLER H El T RIS A, Mo Bl 554 K St ME SRR E,

 State the correct type of stakeholders.



Introduction to Management



Points to note:

Demonstrate a basic understanding of the following management
functions for organisations:
planning , orgainsing, leading and controlling.

Describe the role and importance of the following

key business functions:

human resources management, financial management,
operations management, marketing management, information
management and risk management.

Apply the following principles of effective management:
Division of work, unity of command, unity of direction,
authority and responsibility, and management by objectives.



2020 MOCK PP 3. Steps of planning and key business function (HRM )
FHEINT R EETEMXIIE (AN EBREE)

3. ABE Limited is a medium sized online game developer. The Chief Executive Ofticer (CEO) of

ABE Lumited, Allen, has received several reports that many employees misuse the company
resources for personal purposes, such as working on private freelance job during office hours.
Allen asks the manager of human resources department, Lydia. to follow up the issue and plan a

programme for raising employees’ awareness of business ethics.

(a) State any two major steps that should be included in the planning process of the
programme at this stage. 2 marks)
(b) From the perspective of Lydia, explain two additional ways that the company can do to
enhance awareness of business ethics among its employees. (4 marks)

3. WA MRS Z—FP AL BB AR - RATBEKR AR %ﬁﬁﬂﬁﬂﬁlmﬁ
#fﬂsﬁ% o a) FIRAEAAR R fsnI Yo Lo P B R P AT R AT Y 89 1K o Y AGBHA N BRI
G EIRERMFE > B3I BT -EARBUARAA B EAER érfJ:@ K e

(a) PR AEPEGTIHTERFTENT > FTaEnil yHEE £ 55 - (2 5)

(b) #EENAEME  BEAITRAS I HEAEZERORBEERESTE - 4 5)



3(a)  Two steps in the planning process 2 marks
®  Gather useful and relevant information to understand the problems that need
to be solved. e.g. any other misuse of company resources such as inappropriate
sick leave.

® Develop alternatives for the training programme

Choose among alternatives for the training progranume
® Formulate the implementation plan with successful evaluation criteria (1 mark

for each step, max. 2 marks)

3(a) 3t&iB 42 a9 I8 5 B 2 4
® WEAHAAMMOGENIAT BB AT AL I P LA ] do % 7 B A R bR

B BiRE L R bE mR -

PR 5] W3 B A2 IR

BE S IR 9| SR AR IR

P HeATEH B L35 R o 693 F4E A

(FF8E 12 s 2



Points to note: Poor

Candidates wrongly stated & & §& 5 ith $5 H

- the goal-setting (ET3L B &)

- the criteria of setting a SMART goal (§T3ZSMART B £Z£{&EH)
- the steps of controlling (12§25 ER)

Not acceptable:

Develop forecasts and planning assumptions

AND

Identifying the goals/ establishing objectives

cannot be accepted because the CEO has already decided to plan a programme for raising
employees’ awareness of business ethics.

FES
5 TR R B BB B 1 55

R

H 7 B

FREESEA TR RE L —EREEA 8 THmEHEE,




Two ways to enhance awareness of business ethics of the employees 4 marks

® Recruitment and selection / Staffing / Placement : Select employees with
better ethics standard during job interviews or promotion

® Performance management / Compensation and benefits management :
Reward ethical behavior / Punish unethical behaviour to remind employees of
the importance of business ethics

® (Codes of conduct / Guidelines and regulations :
Prepare and announce official codes / guidelines / regulations to establish the

nors of ethics standard for every staff to follow

(2 marks for each ways, 1 mark for HR function and 1 mark for HR job, max. 4
marks)

3(b) mEBITRARBTH REZHERAF K

® N MEiE / By El / B Lﬂm'l fm i/ S eranEk L aE g

® ERTIH / grEifiab A UEE-FEL TS / uﬁ?ﬁﬁlﬁi’tﬁ’}

TAUPFE TR L Xaded s

© FAFR / ERIERMME: SRR EAERGTE TR / ERIAR MG

VGE LA R OR G ERE T8 -

(FHRFE25 AN ERONE L5 AW ERGTHE L 55 505 4 5)

RAER
® AFHRE / ANHFER (RMH)
® Al R (CER)

Ty
S



Pomts to note: Poor

Most of the candidates can give some examples to enhance the awareness of
business ethics in the company; however, they usually did not show the related
functions of human resources management.

Most of the candidates did not read the question carefully to give two additional

ways. They just recapped “training” which was stated in the question as an
additional way.

They wrongly treated reward and punishment as two points.

KB BERRFEHAIFLURFA R INEFRERE, EXREFERHMAERBIAL

&IRThRE,

o I

ABAEFELFERBTRER, LHEIl" FEXE

A& 4

=R ERMAER T8 PR RBFRAS S FRFERREEE,




Control process 2§l 1&F&

2019 MOCKPP Q3

Recently, David has received many complaints from his
customers. In order to reduce complaints, the store manager,
Paul, believed that it Is Important to maintain control on
operations In the book store.

List four steps that David should adopt to maintain control on
operations in the book store. Explain each with an example.
(4 marks)



Control process %=l 1B FE

RESIIEIRZ = P HI8GF. AE b5, JhBHAL
ﬂﬁﬁE%ﬁF?ﬁﬁéﬁ%Eﬁ%ﬁég%o

(mﬂuxﬁ%ﬁFhﬁgrmﬁﬁﬁ@ﬁ_MEﬁi%,
LE—GFERE, (457)




Step-1:- -He-should-set-performance-standard, -such-as-setting-an-acceptable upper-limit-of-

complaints. - -

Step-2:- -He-should-measure-the-actual -performance, -such-as-1dentifying-the number-of-

complaints received recently. -

Step-3:- -Heshould-compare-the-actual performance-with-the-standard-such-as-deciding-

whether-the number-of-complaints received-from-customers-is-higher-or-lower-than-

expected.

Step-4:- -He-should-take-corrective-actions-such-as-replacing the -store-keeper-if-the-

complaints-are-mainly-about-the-service-quality -/ revising the-performance-

standard-to-a-more-reasonable-level.- - - - - - - - - - 0

(1 mark for-each-correct step -with relevant -example 1n-sequence, max. 4 -marks) -




(c)-

pg

1 %
2 %

3%

L
L

& 3%
e EAERA

g

Jg%—* % o

AT o ko T e 0 RGR BB b IRAF A R BUARE - .
L

flhost B R A B| R FHBMEATERERAR

DAb R AT IR R B BLAR R AT LL 0 e FIETHE B P L B 69 4R SR B
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FAF AR BN S Bl RIFEZRMPNREE L 0 R
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Points to note:

* Wrongly answered the management function or
the steps of planning instead of the steps of control

« BAEIEDIRE/ATEETE BT ER

* Examples given were not relevant to (reduce)
complaints e.g. increase 10% sales

» | FER(RL A ) I ER AN HEEE, 5130 1BAN10%EH & &R




2019 MOCKPP Q4
Interrelationship of different business function

ENGIEE 3L R0

Martin Toy Corporation is one of the most famous toy shops in Hong
Kong. Since the government is encouraging STEM education, the
company is evaluating a large scale project which leads to an
Innovation of new smart robots for children.

Use two examples to explain the interrelationship between financial
management and marketing management in this case. (4 marks)



Interrelationship of different business function

ENGESE 3L NG R0

ETmERGREEHEP—IxERARKEIE. ANBATIEEHE
STEM#E, AREEFF H—IBEAREWNZERIFTE ez AR
I5H,

wL L fESe, FAREG F AR 75 B 1 E S B E R B R R,




The-interrelationship-between-financial - management-and -marketing-management: -

1. -~ The-marketing-managers-help-to-launch-surveys-to-assess-feasibility-of-developing-the-

market-and-its-market-potential,-such-as-assessing-the-volume-of-sales.-Such-

information-willthelprthe-financial -manager-to-compile-the-cash-budget-or-to-finance-

the required-capital. -

2. -+ In-accordance-with-the -budget, the -financial-managers-will-arrange -the required-capital-

using -the - most-suitable-financing-options-while-the - marketing-managersfuse-it-for-the-

marketing-activities. This-1s-to-ensure-that-enough-financial resources-1s-made-available-

for-carrying-out-the -marketing-plan. .

3. - Financial-manager-could-formulate -the-policy-for-debts-collection -policy {for-the-

marketing-department-to-determine-a-competitive-sales strategy. -

(2 -marks-for-each relevant-point, max.-4 -marks) -

4.




B TR LT 5 5 A TR e TR ¢
- NGB EIET R T EE o U ME TSGR T BN 0 Fl ket
A E M E - M B THB MR EHPBLTAE R SZHBHESL - -

- UHRETRERAEAURSBNRETEZEREET L FIFEHCERLET A
AT G5 - BT RSH AT HRIMA LHYMBEERLHE - -

- MR IETH E N MR R BTGB AT LA RFEMNSE Reg o .

(AR A2 5 > S 4 0)-

4.



Points to note:

* Able to state the function of marketing mgt but
failed to state the function of financial mgt.

* Generally weak in explaining the interrelationship
between the two managements

- —fixAete H =H SR (B R AE IE M +5 HH B 75
B EE

» FREEFE H /A0 A N A AH L 1R




Must relate to the function of MM and FM

MM T

Marketing research

o HIET R B1TTHIE =50 KB
Formulating and executing
marketing strategles (4Ps)

 ETEEREGRE
Performmg CRM
o FEHI R i Bt TH G ET 2RI R RK
I\/Iomtormg and evaluating the
effectiveness of marketing
strategies

EMEAFR S
« EERIR / M I5E1E
Source of financing
« BFAFF A / BA AR
Financial analysis
- EEETEE
Working capital management
» BEAXTRE /| EXAREEHE

Capital investment appraisal



Introduction to Accounting



Acgounting Concept
2=
2018 MOCKPP Q3

On 30 June 2017, Peter bought an antique motor car and printed his company’s logo on the car
at a total cost of $700.000. The purchase agreement was signed in the name of the company.
Peter solelv used the car to drive his son to and from school. On 30 September 2017, he
obtained a market valuation of the car from an auction house. The market value was estimated
to be $760.000 and this amount was shown on his company’s statement of financial position as
a non-current asset. On 1 October 2017, the company settled the total costs of $700,000 by
cheque. The financial year ends on 30 September each year.«

Required: .
(a) For the above situation, describe and explain a relevant accounting concept that has been

violated and provide an explanation for the violation. (3 marks)-

(b) Prepare double entries to record the acquisition of the antique motor car on 30 June 2017.
(1 mark)-



Accounting Concept
BEIE

7 201T 6 A 30 B » #AFHEE -8R AA5700,000 & =& > EARAEE La3)4F
R BBV LEZEBEWMSE AL AN EEEEH A FERSR - » 2017 £ 9
A 30 8 fefeds SR ZALENMEE - wetEsT1E 45760, 000 > 28 4% ebBE 28
BB EPHIERSEE - 23217410 A1 8 A £ Z £48700,000- 4 8 %
ABEFe 9 A308 ..

EEEK: -
(a) #HWEILAELHIFAAERY—BMRMETHLE - (3 &)

H

(b) #BEHE@ELLgn201TE=060 A0 BBEELETAENZS - (1 4)



@

Business entity concept has been violated./ Entity concept (1)
Business entity concept states that the business and_its owner are two_separate

enfities.(1)

Private/Personal assets/transactions should not be recorded in the companv’s book.

(1) OR

Since the antique motor car is not used in the business (just for the transportation of | 3
Peter’s son). it should not appear in the statement of financial position of the
company. (1) OR
Since the antique motor car is not used in_the business. the purchase of the car
should be treated as drawings. (1)
(1 mark for each relevant elaboration. max. 1 mark)

(b)

2017

June 30 Dr. Drawings $700.,000 5

Cr. Other Payables/ Account payables $700.,000

S o




(a) | B3R TALEERmMS. (D
LrEEBBALECEMEREARBEFHLEHE - (1)
AT A/ R AR AD BN - (1)
MRBZFEALLRARAARDERABEREFHLT), CARET AL M
BHRAELE - (1)

X,
MAZETEAELIAANSCE MEALEAARA - (1)
(el &S 1 4)

(b)
2017
6 308 f5: &M $700, 000
T R4 AR/ BAT BRAR $700, 000

= o
1



Points to note:

Question 3 Part (a)

* Some students wrongly stated Historical Cost concept or Accrual concept.
(The market value is given in the question.)

* They wrongly applied the Business Entity concept, like ‘The car was bought
by business’s cheque. The owner should not use it personally.’

* However, most students stated the motor car was not recorded in non-
current assets; thus, no marks were not rewarded.

Question 3 Part (b)

* Though many candidates were able to credit the “Other payable” account,
a wrong account name was used: non-trade creditor, trade creditor, trade
payable.

* Some of them made the debit entry in the “Motor Car” account and credit
entry in the ‘Bank’ account.



5 Accounting Concepts in Paper 1

* Consistency — R 1%

 Accrual FEETIE =

» Business Entity 13 {E 72

» Historical cost & 58 gt A<

» Going Concern FHERR &



Accounting Ratios & &tLL

2019MOCKPP Q5

Under a franchise agreement, Alibee operates a shop selling well-known brand of healthv organic
foods. Ewverv vear, the franchisor collects a rovalty fee (including the promotion expenses) for

the brand from Alibee.

reduction campaign to boost the sales.

Fecently, the franchisor launched a large-scale advertising and price
Alibee complained that her profit dropped due to

excessive advertising expenses and a rise in operating expenses.+

+

The following information was extracted from the books of Alibee:+

+

31.12.2017< 31.12.2018+¢

For vear ended:»

o 7000+ 00044
Sales~ 5.100# 8.200¢¢
Cost of goods sold~ 1,800+ 4 00040
Retums inwards< 100+ 20040
Fovalty fee » 1,200+ 192040
Other operating expenses+< 600+ 880+

{a) Calculate the gross profit percentage and net profit percentage for both vears. Comment on

the complaints from Alibee and suggest her one recommendation to improve the situation.

{5 marks ) )

H

{(b) Define nominal accounts and identifv one example from the above information.

{1 mark)

\ol.
YA,

FECRESHEENEE S8 —FESHLLBYEEALECREE - 55 Bl
EACHFERHRBFELETR(AELENTEER) . S - B3rd#EF A EHT —
FEAEHNELERAESS  UEEEEL - MELINRF BENELEFTRAREEFRY
A BB FETE

o

LT EHRAGEEFECSER

o
BELFE v 31.12.2017< | 31.12.2018¢ o
¢ $°000¢ $°000<0
B H 5.100¢ 8.200¢0
& ' A 1,800+ 4,000
HFiRFe 100+ 2000
HIFLTFRY 1.200+ 1,920¢¢
HEEFR 600 880+

(a) HERFEHEAEREH EFRFMECHEFHF TR E —FEer S P EAsEg .
(5 &)
+

HBEERAFHER DR PETHRFHE—BFF - (1 5 )



2017 Gross profit percentage 2018 Gross profit percentage 2017 £ 8 F 2018 £ ##%

_5511]!]—10!]—19!]0 _$8200—2H0—4HOH _5511]!]—10!]—18!]0 _$9200—2I]1]—4l]1]ﬂ

L8] 0

sstod-100 | 100% $8200—200 | 100% ss10d—100 | 100% $a200-200 | 100%
=64% (1/2) =50% (1/2) =64% (1/2) =50% (1/2)
2017 Net profit percentage 2018 Net profit percentage 2017 F4] % 2018 3 F
_$5100-100-1800—1200-600 o _$3200-200-4000-1920-280 0 _$5100-100-1800-1200-600 _ o _$8200-200-4000-1920-880 _ 0

$51udf—1on * 100% $8200-200 * 100% $51001-100 100% $8200-200 100%

= 1400/5000 = 28% (1/2) =1200/8000 = 15% (1/2) = 1400/5000 = 28% (1/2) = 1200/8000 = 15% (1/2)
Alibee’s complaint 1s not valid. Or The drop in profit is not due to the increase in o
expenses. Or The drop in profit is mainly due to the increase of cost of FIEEORGFERERR - & AMOTHRERAD L W TR L AR
goods/purchases. (1) Al R R A AR e (1)
The net profit percentage decreased and at the same time gross profit percentage also A R E AR T 2 o (1)

decreased too. (1)
EHFHNT HMWEE (64%-50%=14%) KW FHFRHT g E (28%- 1.
The drop 1n gross profit percentage (64% - 50% = 14%) 1s even greater than the dropmn 3%) - %

net profit percentage (28% - 15% = 13%) Or B mAMEIERE (5 1222%) EANLEBER 9L IHER (5 55.6%)
The percentage increase in cost of goods sold (by 122.2%) 1s greater than the percentage
g ar g b o 5 E ok b b B e 1 e RS K
iﬂcrﬁage in T@ta] expenses (b}’ 555@0) (1} A ﬂ_g Lﬁ;-ﬁ" i1-) ﬁh—l L FT'IEF C ,HE-_ % "R #-J-' -4’#‘&%"& A F% "Fﬂ.uil'ﬁ {3 1‘1 T fi{]ﬁi »&;'ﬁ{' ﬁ
P8 ES T B BTt o (1)

In order to improve the situation. Alibee should either request the franchisor to cut the

unit cost price or reduce the sales discount in the sales promotion. (1)



Points to note

* A lot of candidates used sales figure instead of net
sales. KEMDZHERATHESREE, MARFRHEE,

LH




2020 MOCK PP
4. Double entries 8 X S0 IR

In January 2019, Fong set up the following policy to boost sales of the company and

encouraged hus customers to make early settlement.

Trade discounts:

Cash discounts:

8% trade discount to be offered to all sales.

3% cash discount to be given if settlement made within 10 days after

sales.

In January 2019, the following shows transactions between Fong and Owen, one of his new

customers.
2019
Janunary 1
8
9
12
13
15
20
22
REQUIRED:

Prepare Owen’s account 1n the books of Fong to record the above transactions for January 2019,

Sold goods on credit to Owen at listed price of $18.000.

Sold goods to Owen in cash at listed price of $6.300.
Received a sales order from Owen at listed price of $20.000.
Owen settled all his debts at the moment.

Delivered the goods ordered on 9 January.

Delivered goods which were urgently needed by Owen.
Received goods returned from Owen at listed price of $1,000.
Owen settled all his debts by a cheque of $21.850.

2009 F1H » FHPE—BHRAFR A WNELEHEAEBMEPRT R -

i TIELI P 4 WA B R T de ¢

Badrdo - EHE T & R ARG RARCT R ShEl & 47do -

£2019F 1A FHEMEP RENLH0T

2019
1A 18 mAERSEHFA $18,000 eht 4y
8 ®MAEURLEEHREME 56,300 5% 4 -
98 deE|AERMA $20,000 ahiTHE -
128 BEMHFEER -
138 #®E1IA I MITHEREHES -
158 RAESETHTHWER -
208 A EReMEEA 51,000 04K 4 -
228 BEuoE FE $21,850 1A kak e

EEER:
Loy bRt B G M oy REW A sk B3 2019 £ 1 A 09§ -



Owen’s account (in books of Fong)

2019 $ 2019 $

0.5 Jan 1 Sales 16.560 | Jan 12 Bank/Cash 16.560
(18000x92%) (18000x92%)

1 Jan 13 Sales 18.400 | Jan 20 Sales returns 920
(20000x92%) (1000x92%)

0.5 Jan 15  Sales 5.520 | Jan 22 Bank 21.850
[(21850/92%/95%) — 20000 22  Discounts allowed 1.150
+1000] x 92% (21850/95%x5%)

40.480 40.480
REWMEP (FF aghkiF)
2019 $ 2019 $

0.5 1H1 8 4 5 16,560 |1 B 128 4R EE/ R4 16, 560

(18000x92%) (18000x92%)
1 1138 &HE 18,400 (1 B 208 4B iEE 920
(20000x92%) (1000x92%)
0.5 1H1b8 #HBfF 5,020 1 B 22 8 44T 21, 850
[(21850/92%/95 13228 4&fFHde 1, 150
7o) — (20000 = (21850/95%x3%)
lU{}{}}] x 92% ‘ )
40, 480 40, 480

0.5

0.5

0.5

0.5

—
Zn

—
_noon

_4m



Points to note: Poor

* Not familiar with double entries (Mix debit and credit and did not state the correct account’s
name.)

» They could not deduct the trade discount for every sale of goods.

» They entered the sales on Jan 9 (Date of order) instead of Jan 13 (Date of delivery).
+  Some candidates prepared all T-accounts of double entries.

- HEXRERFHAR (EEFE, 2EFAEREERERZERLE

« FERFHIREIEBRUBERZZHTH.

- BREEEREIABKITTEEFERIEMEKE.
« BABEREMATIRS,




2021 MOCK PP Qb

Financial Statement, Accounting ratios BA 75 x R E 5T L3

6. Mandy 1s the finance director of Chan’s trading firm.  She is preparing the financial report and

evaluating the performance of the firm.

The following mformation 1s extracted from the books of the firm as at 31 December 2019:

$
Premuises 562,000
Inventory as at 31 December 2019 ?
Capital as at 31 December 2019 599 B30
Loss for the year 150
Loan to a customer (repayable on 1 January 2021) 100.000
Deposit from a customer (Note) 100.000
Cash at bank (credit balance) 2.120
Cash 1n advance to suppliers (refundable) 3.000
Trade receivables - Tom 850
Peter 1,700
Trade payables - Betty 2430
Mable 920
May 2440

Note: The deposit 1s related to a procurement of a specialized machine on behalf of a

customer. According to the signed contract, the assembly of the machine 1s
scheduled to complete on 31 March 2021.

(a) Prepare for the firm the statement of financial position as at 31 December 2019. (5 marks)

(b) Calculate the quick ratio for the firm. (Calculate to 2 decimal places)

(1 mark)

6. XMARKHEHHROUFRE - BEATHUFRE BTEATROES -

ELT

FEHA 2019 4 12 H 31 8 S48 8 & 5 4m

¥

20194124 314H

FAM 2019412 3148

AEERA
GHFLEP F2021 5 1H 18 4:R)
£ HEP WA (R
ATk (3 7 4k98)

AT EE R4 (THRE)

M - 7 b
#43
AL - R &
E S |
&

$

562,000

?
399,850
150
100,000
100,000
2120
3.000
880
1,700
2430
920
2.440

AR D BT AARAREPME-SHEOAE RECHFEZNL Y BHREL L HHE

(a)

(b)

#2021 -3 H 31 0 R ALfLE -

ARG 20194 12H 31 8 MRk E -

AR ST EReLE - GHER S5 4S 0),

(G 7)

(1 %)



Points to note:

6.(a)

Most students could not recognize: & 4 K BE 77 i
1. Loan to a customer (more than 1 year) =2 non-current asset

ERTFTEEF (ZR1F) >FERBEE

2. Deposit from a customer (more than 1 year) =2 non-current liability

KEEFHETE (ZR1F)>FRBDER

3. Cash in advance to suppliers is not the same as Prepaid expense = current
asset

TR FHRERNEE (RE)EEMFERATRE>REEE

4. Bank overdraft could not be stated as (negative) bank balance

IRITEXZ TR (AHERE) HNRTHERK



Points to note:
6.(a)

5. $599,850 is the closing capital balance, not the opening balance.
$599,850 A AR EAREREE, T EHIYIRIEREE,

6. Individual balances for trade receivables and trade payables should not be
shown on the financial statement. The totals should be shown instead.

BRI EKE X REMN BB REMFHER, ERBEREEL,

7. Some students omitted the word “Less” in the statement of financial
position.

MABZEERBRNERFBR R .




% 6 8

(a) 32 Question 6 (a) Chan
e A 42019 4 12 31 | Statement of financial position as at 31 December 2012
HuabFE $ $ s Non-current assets $ $ $ Marks
[T 562.000 Premises 562,000 05
FHTLEP (20215614 18 :8) 100,000 Loan to a customer (Repayable in 1 January 2021) 100,000 05
662.000 662,000
ABFE Current assefs
7 (£%) 40.180 Inventory (bal. fig ) 40.180 05
M A% (880+1.700) 2,580 Trade receivables (880+1.700) 2.580 05
BT AR AR 3,000 Cash in advance to suppliers 3.000 0.5
45,760 45.760
af: dEE Less: Current liabilities
B4 3 A (2.430+920+2.440) 3,790 Trade payables (2.430+020+2 440) 5.790 0.5
M| ATEE 2.120 7910 37850 Bank overdraft 2,120 7910 37850 05
699,850 699 850

if: FakE A
LHEEPENTE 100000

Less: Non-current liabilities

Deposit from a customer 100,000 05
599_850 500 850
® {L # ﬁf i Financed by:
ﬁ_’# Jf 019% 1A 18(2%) ﬁ{]-l]__{ltil{} Capital as at 1 Jamary 2019 (bal. fig ) 600000 053
3 FRX 10 Less: Net loss 150 05
500850 w0 ©)
D g dc (RAF£onrd + ST RER R L) s R (®  Quick Ratio: (Trade receivables + Cash in advance) / Current liabilities 1 mark

=(2.580+3.000) /7.910 =071 -1 (3} K 2= - g2 5 f2) =(2.580+3.000)/ 7.9010=071:1 (calculate to 2 decimal places)



Personal Finance



Personal Credit Record and Different Types of Personal loans
BAEERE + FRIEEMNEAER
2018 MOCKPP Q2

(a) State two reasons for the importance of maintaining a good personal credit record.-
(2 marks)-

(b) Explain the difference between revolving personal loan and instalment loan in terms of

flexibility and pattern of drawing the loan. (4 marks)-

(a) R EHAEZRFEAZERGEEIHYER - (2 5)-

(b) ZIHBHEALERFTAARERELEZIHARRERBAGEE - (4 7).



(a)

Reasons for the importance of maintaining a good personal credit record:

Easier application for consumer credit (1)
If the borrower’s personal credit record is good. the credit provider may approve the
application in a shorter period of time.

Better terms and conditions (1)

A person who has a good personal credit record is generally charged a lower interest
rate when he applies for a loan. OR longer repayment period OR greater amount of
credit

(1 mark for each relevant reason. max. 2 marks)

(a)

MBI AE ey E &4

PREGEHEHEESE (1)
o R HRAGBAR TSR SEREFTRABEYHEI NI ELY % -

P ek sk Foixk s (1)

BA BRFRAEEREGEOBARTAPFEREIABEMNF R/ BEHER
WM/ BAOEREHA -

(FaaMeER 145,585 24%9)




Points to note:
Question 2 Part (a)

e Candidates were able to state the reasons for the importance of maintaining
a good personal credit record.

 Some students mixed up the words ‘lend’ and ‘borrow’.

» Many candidates stated ‘interest(F] &) instead of ‘interest rate(FZ)’ as
the answer.

* Some students stated two points, like lower interest rate and longer
repayment period both of which belong to the examples of better terms
and conditions.



(b)

Difference between revolving personal loan and instalment loan

Flexibility of loan repayment

Revolving personal loan allows consumer to repav by irregular or lump-sum
pavments anvtime(1) while mstalment loan requires consumers to repav with equal
periodic pavients over time. (1)

Pattern of drawing the loan
Revolving personal loan allows consumers_to_draw credit_as long as the total
amount of credit is within a limit(1). Instalment loan 1s a kind of credit that allows

the consumer to draw credit limited to a specified amount in one go. (1)

(b)

HBBARL E o AR E R LR
EEERF @ BREACTRIMHSRERREE -  BREAAZE AFH T
AT R AR R — R RT XMMBRE K - @45 B4R T KRR KA
& AR B A8 ] & 8 69k IR - (2)

EARBREZRES o A EAZTELIECRESH S NARE SR THE
B oHBBEATEAFRIEFLABRSEEAEERANERIXBRAEH® > » 1
HEBERAFEEE—RIBERRBEEAHANER - (2)




Points to note:
Question 2 Part (b)

* Most candidates were unable to explain appropriately the flexibility of repaying
and pattern of drawing revolving personal loan.

Instalment loan (5 EA{FTERE EX) is not the same as instalment(% B4 ER).

* For the pattern of drawing the loan, students wrote ‘draw fixed time for
instalment loan’ instead of ‘draw once’.

 Some of them stated that ‘only minimum payment needs to be paid’ which was
not necessarily the repayment requirement of a revolving personal loan.

* Some students stated the application procedure of two different types of loans
as the explanation of pattern of drawing.



Risk and return J&l e Ed [3] 2

 Compare the risk and return of different types of financial products.
o LEERASRITRE FE B R i B [m] i

- Savings/term deposits, bonds/debentures and stocks (Preference
shares and Ordinary shares)

Investors should expect higher risk of investments for higher return;

BREFHHLELESRRE R LUREE S E R ;

Higher risk of investments does not necessarily bring higher return.

e BRI E RV HERER S B R,




Factors affecting share prices
e iR R EBHER

* general economic condition iR HE (G R

* political factors BUREFH

* interest rate ¥l 3

e industry prospects TR =
 company performance 23 5] &RIH
e dividend policy JR B IEK
* speculation ¥z EE)

« Remember to state how these factors affecting share prices J1{a[ 82 £ ?
(more investors willing to buy/sell? 2 Increase/Decrease?)

BEZREFMEBA/EL. > LH/TER?




